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Dragonite | nvE: ] | nvE: ] Dragonite
1t : S5E8A R BEW 1t : =% R EEH
A EJRNE 79 . Fimk B EIR 7 R
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 Wkl 7 | 3BNT | = | -400 | 7 4H 1| 50 10
2 |mEit| & 4H | -1 | -100 | 7 4H 1 | -100
3 |&Z&AE|l = 3D | 3 |-150| & 3D | -3 | -150
4 |wa| ® | 3NT | +1 | 630 %z | 3NT | -1 | 100 12
5 | @t
6 |Z&m| 4t | s5Dx | -3 | -500 | it 4H | -2 | -100 9
7 |wal| it 4s | +1 | 650 | 4t 4S = | 620 1
8 |wxl| & 2s | +2 | -a70 | 7 2s | +3 | 200 | 1
9 |&FHFE| B | 5Ccx | -1 | 100 | & 2H | -1 | 100 5
10 | W& [£3] 3C -2 -200 7a 4AHXx -2 500 12
11 |kl 46 | 3NT | +1 | 430 | 4t | 3NT | +1 | 430
12 | &kl & 4s | +1 | -450 | %® 4H | +1 | -450
DATUM%tit g 6
Dragonite | e Y. =] 2 48
SEI/ERE  -33 FEIFE 21 ait 2 48
=HagU/BER  -21 SEiek/ ik 33 V.P. 1.22 | 18.78
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15 RUERA VS 2 SUXBA
H= A=
RUE AR AR R
It - % BE ITprT— 7 =
RS 78 LIRS =] =Y MATR[ ]

x| | R | m | R | mee| e | 2 |er axe| 20| T

1 TS [ri] 4H -2 100 1t 3S -2 -100 5

2 it [£3] 4HX -2 -500 [£3] INT +1 120 12

3 ,?ﬁ [£3] INT -2 -100 [£3] INT -2 -100

4 E=] x 3NT +1 -630 ® 3NT +1 -630

5 it [ri] 4HX = -590 75 4H +2 -480 3

6 panyiic] [£3] 3NT -3 -150 [£3] 3NT -3 -150

7 PWE=] 1t 4S = 620 1t 4S = 620

8 TS [ri] 2S +2 -170 [ri] 4S +1 -450 7

9 panyiic] [£3] 5Cx -1 -100 x 2H +1 -140 1

10 | \WHB [£3] 4Sx -1 -200 1t INT +1 120 8

11 | W 1t 3NT +1 430 1t 3NT = 400 1

12 | Edb x 4H = -420 x 4H +1 -450 1

DATUMiT T
RUELPA SGEBA Y. X+ 15 | 23
SERE/RURS -32 M/ FE= 21 ait 15 | 23
oK =/;C RN 21 SE/POES 32 V.P. 7.39 | 12.61
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT -2 100 [£3] INT -1 -50 4
2 |/&dtl & | AINT | +1 | 120 | & 4H -1 | -100 6
3 panyiic] 1t INT -2 -100 [£3] 2D -1 -50 2
4 E=] x 3NT +1 -630 ® 3NT -1 100 12
5 it x 3NT -3 150 1t 4S -2 -200 8
6 panyiic] [£3] 3NT -150 [£3] 3NT -3 -150
7 PWE=] 1t 4S = 620 [£7] 3NT +1 630
8 TS [ri] 2S +2 -170 [ri] 2S +1 -140 1
9 panyiic] [ri] 5Dx -1 200 [ri] 3D +1 -130 8
10 | \WHB 1t 3C -2 -200 [£3] 2S = 110 7
11 | X 1t 3NT -1 -50 1t INT +4 210 6
12 |t & 4S | +1 | -450 | 7 4H | +1 | -450
DATUM&iit iFE
INELHs - | S r: 5 ] 26 | 28
ZH=S/5%RL -5 BRI REX O ait 26 | 28
AR/ % O St/ 5F 5 V.P. 9.29 | 10.71
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it : BB R IR it : E8fF IR : {[OFiE
o e 7 S 5 - = B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT -2 100 x 3D 50 2
2 it [£3] 4H -2 -200 [£3] 4H -1 -100 3
3 panyiie] [£3] 3D -2 -100 [£3] 2D -1 -50
4 PWE=] x 3NT -1 100 ® 3NT +1 -630 12
5 it 1t 4Sx -2 -500 75 4H = -420 2
6 panyiic] [£3] 2C +3 150 1t 5D = 400 6
7 PWE=] 1t 4S +1 650 [£7] 3NT = 600 2
8 TS [ri] 4S = -420 [ri] 4S = -420
9 ,?ﬁ [£3] 5C -2 -100 [ri] 4D = -130 1
10 | WHB [£3] 4S -1 -100 [£3] 2S = 110 5
11 | W 1t 3NT +2 460 1t 3NT = 400 2
12 | Edb x 4H +1 -450 x 4H = -420 1
DATUMiT T
FhimEE y) At E L Y. 3+ 19 | 19
HESER XTI -2 /X -9 &ait 19 19
BB 2R 9 EpEVEN 2 V.P. 10 10
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9 SKY Vs 8 %
H= A=
SKY S S SKY
it FZE IR : YALKON b | A S % EEHR
/| 7 R = 7 . A
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT -1 50 [ri] 4H -2 100 2
2 it [£3] 3NT -1 -100 [£3] INT +1 120 6
3 ,?ﬁ [£3] INT -2 -100 [£3] INT -2 -100
4 E=] x 3NT -1 100 ® 3NT -1 100
5 it x 4C = -130 1t 3S = 140 7
6 panyiie] [£3] 3NT -3 -150 1t 4H -1 -50 3
7 PWE=] 1t 4S = 620 1t 4S = 620
8 TS [ri] 4S = -420 [ri] 4S = -420
9 ,?ﬁ x 2H -2 200 x 2H = -110 7
10 | \WHB [£3] 3S 1 -100 [£3] 4S -2 -200 3
11 | W 1t 3NT = 400 1t 3NT = 400
12 | Edb x 4H +1 -450 x 4H -1 50 11
DATUMiT T
SKY I HE% Y. X+ 10 | 29
F2/FRR 4 RITR/M(IES) 22 Aait 10 | 29
TEWRNE 22 BRWIABEE -4 V.P. 4.63 | 15.37
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HBCHANCE IRBE IRBE HBCHANCE
3t - PR X . GE 3t < KBEES R BEE
M 2ET 7 : EEE 5 R 7Y B

x| | R | m | R | mee| e | 2 |er axe| 20| T

1 |wx|l & | 3p | = | 10| & | anT | -2 | 100 5

> |@t| & | a0 | 2 | 00 & | 44 | 3 | 300 | 5

3 |mm| m | 2 | 2| 50 | ® | 3¢ | = | 110] 2

4 |wal & | 3nT| 2| 200 & | aNT | +1 | 630 | 13

5 |mb| 4t | 3s | = | 140 § 4t | 4sx | 3 | 800 | 14

6 |mm| 4t | a0 | 3 | -150) & | sc | = | 400 11

7 |swa| 4t | 4s | 1| eso | 4 | 4s | = | 620 | 1

8 |wkl| & | 3s | +1 | 170 | & | 4s | -1 | 50 6

o |mm| &= | 21 | +1 | -140| & | s5Dx | -1 | 200 8

10 |wal & | 2s | +1| 40| ® | 30 | = | 40| 7

11 | Wkl 4t [ 3nT | +2 | 430 | 4t | aNnT | = | 400 | 1

12 |l & | 4H | +1 | 450 | & | an | +1 | 450

DATUM&iit iFE
FHBCHANCE B iE r. X+ a3 | 30
PR/ RER 16 FBFRS/RREE -5 ait 43 | 30
1ZE R/ EFEE 5 BME/EBE -16 V.P. 13.97 | 6.03
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A [ [ A
Tt s 7 REE It E P
o EE 7 - e m S 7 S
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 2Sx -1 -100 [ri] 4H 150 6
2 it [£3] 4H -1 -100 [£3] 4H -2 -200
3 ,?ﬁ [£3] 2D = 90 [£3] 2D -1 -50 4
4 E=] [ri] 3NT -1 100 ® 3NT +1 -630 12
5 it 1t 3Sx +1 930 78 4C -1 50 13
6 panyiie] [£3] 2D +2 130 1t 4H -1 -50 5
7 WE=] [£3] 3NT = 600 1t 4S = 620 1
8 TS [ri] 3S +1 -170 1t INT +1 120 7
9 gy [ri] 4Sx = -790 [£3] 4C -1 -50 12
10 | \WHB [£3] 3S = 140 1t 5Cx -3 -800 14
11 | YW 1t 3NT +2 460 1t 3NT = 400 2
12 | Edb [ri] 4H = -420 x 4H +1 -450 1
DATUMiT T
BiEXE I MzZzs Y. X+ 54 | 26
e/ BT 25 RE/IRHR -9 Aait 54 | 26
FeER/ PR E 9 RELE/fFmpE -25 V.P. 17.08 | 2.92
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SER EET Es BNER
Tt Bk . 1t - skamiE =
= B 7 - o & 7 PR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS 1t 3S -2 -100 [£3] INT 1 -50 2
2 it [ri] 4Sx -1 100 [£3] 4H -3 -300 9
3 ,?ﬁ [£3] INT -2 -100 x 2H = -110
4 PE=] x 3NT +1 -630 [rif] 5C = -600 1
5 it [ri] 3C +1 -130 [£3] 2S +1 140 7
6 panyiic] [£3] 3NT -3 -150 [£3] 3NT -3 -150
7 PWE=] 1t 5S = 650 1t 4S = 620 1
8 TS [ri] 4S = -420 [ri] 4S = -420
9 panyiie] x 3H 2 200 [ri] 5D -2 200
10 | WHB [£3] 4S -3 -300 [ri] 3H -1 100 9
11 | W 1t 3NT = 400 1t 3NT +1 430 1
12 | Edb x 4H = -420 [ri] 4H = -420
DATUMiT T
EMER 3Rl Y. X+ 10 | 20
B/ R -15 oRFBEEITAERE -7 ait 10 | 20
Mee/HE5R 7 fR=/litEhse 15 V.P. 6.82 | 13.18
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H= A=
R MERT - MERST R
it : =5 K5k it : BKIE R R
B TR A REE Fa : BiERl 7g : BRIES
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 3NT = -400 x 3NT -2 100 11
2 it [£3] 4H -3 -300 [£3] 3NTx | +1 950 15
3 panyiie] x INT = -90 x 2H +1 -140 2
4 E=] [ri] 3NT -1 100 ® 3NT -1 100
5 it [ri] 4C -1 50 1t 3S -1 -100 4
6 panyiie] 1t 3NT -3 -150 1t 4H -1 -50 3
7 PWE=] [£3] 3NT = 600 [£7] 3NT = 600
8 TS [ri] 2S +2 -170 [ri] 2S +2 -170
9 panyiic] [ri] 2D +2 -130 [ri] 4S = -620 10
10 | \WHB 1t 2S +1 140 1t INT +1 120 1
11 | X 1t 3NT +1 430 1t 3NT = 400 1
12 | Edb [£3] 3SXx -2 -500 x 4H = -420 2
DATUM#it A
e I MNERT Y, &+ 18 | 31
BB /RS -3 BUKE/DER] 18 Aait 18 | 31
BDLA/RREE  -18 B/ RRE 3 V.P. 6.03 | 13.97
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18 iRERBRPA VS 16 =5BA
H= A=
REREA =z =z R
It BasE . e I — PppE—
o BEA 7 TR 7 - 2O 7 - o)
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x 3NT -2 100 [ri] 4H 100
> |kl & | a0 | -1 | -100] & | aNnT | 2 | 200 3
3 |#wml 5 | 2o | 1| s0 | & | 20 | +1 | -140 | 3
4 PE=] x 3NT +1 -630 ® 3NT -1 100 12
5 it [ri] 5Hx -2 300 75 4C = -130 10
6 ,?ﬁ 1t 4HX -1 -100 1t 2H +1 140 6
7 | XWF it 4S +1 650 1t 4S +1 650
8 TS [ri] 4S = -420 1t 2NT -4 -200 6
9 ,?ﬁ [ri] 4Dx -1 200 [£3] 5Cx -100 7
10 | \WHB [£3] 3S -1 -100 x 2Cx = -180 2
11 | W 1t 3NT +1 430 1t 3NT = 400 1
12 | Edb x 4H +1 -450 x 4H = -420 1
DATUMiT T
iRAABreRA =5PA Y. X+ 26 25
(=A% VAN 2 HH==/Z=HREQ 7 ait 26 | 25
Fr et/ ZRM -7 SXB/ TS -2 V.P. 10.36 | 9.64
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